Ece101 hw4    Due March 20  
1. Generate a sequence of 3 digit pseudo random number generator (PRNG) for N=100, A=7, b=5 and X0  =19
38,71,2…

2. Add even parity bits to the following strings:
   011111000 1           1010101
   Add  odd parity bit to sequence 100110
3.  Using the redundancy coding presented in the lecture, add the appropriate even parity bits and compute the check word using odd parity (don't forget that the check word parity bit is even!)
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4. Based on the same redundancy coding scheme used in lecture, detect and correct any errors present in the following (the last bit "word" is the check word):

0 1 1
1 1 0
1 1 0
1 1 1
0 0 0


     0 1 1    1 1 0   1 1 0      1 1 1     0 0 0

                             101                        
5. For the Huffman code below, decode the sequence  001000110100   1.....
                                                                                    A C  B D A     last digit should have continuation (there is no single                                 1)
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p(Event A) = .4  p(Event B) = .3  p(Event C) = .1  p(Event D) = .1  p(Event E) = .05  p(Event F) = .05
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